S| (PTG Sl I TIEE (@ AT (A ST 1 5 (@ YRR 2

In which case attraction force is greater, earth to sun or sun to earth? 1
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A 10N weight can be lifted in one end of a thin rod by applying a 5N force on the
other end. If the length of the rod is 1.5 meter, where is the fulcrum situated? 2
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The length and the velocity of a train is 50m and 15m/s respectively. Another train
of 75 meter length is coming in opposite direction with velocity 10m/s. How
much time will they take to cross each other? 2
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The distance between the compression and rarefaction of air columns is 5 meter
due to vibration of a tuning fork. A certain air column gets fully rared from fully
compressed state in 0.03125 sec. Determine the velocity of sound in air. 3
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A body’s weight is 5 N in air and 3 N when it is submerged under water. How
many times IS the body heavier than the water of same volume. 4
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The mass of two body is 100 kg and 400 kg and distance between them is 300
meter. At what position between the two bodies, a 1 kg mass will feel no net force?

4
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R1 and R2 are the resistances in the circuit. Determine R1, R2 .
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If the incident ray is found parallel to the reflected ray, then what should be the

angle between two mirrors ?
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